Operations on Rational Numbers
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1. The additive inverse of g- is 5
e ; -8 . 8
2. The additive inverse of = is 3
N -10 . 10
3. The additive inverse of 5 is TE A
= cranis sars 9 ...-9
4. The additive inverse of = is =
5. The additive inverse of =1 is 1.
6. The additive inverse of 7 is - 7.
7. The additive inverse of - 25 is 25,
8. The additive inverse of O is 0.
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Exercise 53:

Solution 1:

(1)Number(—5] is to the left of number (— 1] on the number line.
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(2) Thenumber O {zero) isgreater than any negative number.
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(3)Any positive number is greater than zero.
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(4)Any negative number is smaller than the positive number.
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(S)Between any two rational numbers with the same denominator,

the number having a smaller numerator is smaller than the other.
MNow, - 11 < -7,
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(6)Between any two rational numbers with the same denominator,
the number having smaller numerator is smaller than the other.
Now, 25 €28,
25 28
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(7)Any negative number is smaller than the positive number.
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(8)Between any two rational numbers with the same denorminator,
the number having a smaller numerator is smaller than the other,
MNow, -7 < =5,
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The L.C.M. of the denominators 7 and 9 is 63.
Therefore make their denominators 63.
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The L.C.M. of the denominators 8 and 4is 8.
Therefore make their denominators 8.
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The L.C.M. of the denominators 8 and 4 is 8.
Therefore make their denominators 8.
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The L.C.M. of the denominators S and 15 is 15.
Therefore make their denominators 15.
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The L.C.M. of the denominators 3 and 4 is 12.
Therefore make their denominators 12.
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The L.C.M. of the denominators 3 and 4 is 12.
Therefore make their denominators 12.
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The L.C.M. of the denominators 19 and 7 is 133,
Therefore make their denominators 133.
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The L.C.M. of the denominators 1 and 4 is 4.
Therefore make their denominators 4.
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